. Discuss the ‘Law of Diminishing Marginal Utility’.
‘G ST B | s e s |

. How are price and output determined under
monopoly in short-run ? Support your answer with
suitable diagrams.

THIURR & STid STeUhlel H hiAd q97 Scaed &l

frafor &9 21 § ? o9 W HI YT SUgE L@t
T Hifo |

. “Profits are caused by innovation and disappear
by imitation.” Elucidate this statement.

‘e FE-YadT B GRT SO B © Al ST &
HRO T B T T HY Hi faa= wife |

. Make out the difference between prime costs and
supplementary costs with suitable illustration and
diagram.

SUTHT STl SR Y@nfed ® TWEE ¥ WY@ ArTdl
3R & ANl H SRR IRy |

. What do you mean by the exception to the law of
demand ? Explain the exceptions to the law of
demand.

T & oW & STaE W OSATUT N SIWE ¥ 2 W &
g & sTvaRt &l o Sifse |

. Throw light in brief on the methods of measuring
National Income.

T A I A9 i fGfEE | 9 § gomer Sy
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 4x3'%,=14
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 3% marks.
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What is the central problem of an Economy ?
TH AdTIRA FHI BT THE G 7

What do you mean by Marginal Utility ?
T YRR ¥ SIS M AR T 2
Explain the concept of consumer’s surplus
with an example.

U HI S hl STAYROT ! ST Gfed
HHART |

What do you understand by ‘Giffen’s
Paradox’ ?
%ﬁﬁm@ﬁﬁmm'@aﬁﬁmwmﬁ
- 7

Compute the income elasticity of demand
from the information given below :

The income of a consumer increases from
T 10,000 to T 20,000 and due to this his
demand for a product decreases from 20 kg
to 10 kg.

frifra o1 & SR W | &+ 3™« &t
TOAT HIT ¢

T IUHRRT 1 3™ % 10,000 § 515 T 20,000
B STt ¥ 3R SHe ROl SHR! Tk A HI AT
20 fell & w2t 10 fFell @ S 7

(2)

17

(vi) What is the another name of Long-term
Production Function ?
SERTe ST e T ORI N TH ¥ ?
(vii) What do understand by Gross Domestic
Product (GDP) ?
el W 3R (GDP) ¥ 39 #4199 © 2
(viii) Which single characteristic of monopolistic
competition distinguishes it from other market
forms ?
THIThRIHS  FFAAITar i el Tha fagroar
T8 3 IR IEdl ¥ fae w § 2
Section-B 4%x14=56
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 14 marks.
gus—d
(Y T q99)
der ;- fFdl 9 gl & SW AWM oM T WA
srfreras 200 vrsi H OfEfqa wifSw) gde 99
14 R &1 7
2. Explain the key characteristics of indifference
curves. Explain with diagrams.
ST Tk ot T& foRTsarsti sht Tee sifeig | et
T gHEEY
3. Explain the various degrees of price elasticity of
demand with suitable diagrams.
T &Y hiFd A=t fafv= afor 5 Suge enfesi
T 9uAE|
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